
Multi Sander
Model

RC7095

Serie

B

Bei Ersatzteilbestellungen bitte Artikelnummer und Bezeichnung angeben! - To order spare parts pls. indicate Part-No. and Description

Ref: 8956002263  / Rev: 01  - 07/2023 1/1

Pos. Artikelnr. Description Anz.

4 8958001520 Vacuum Adapter 1

12 8958001528 Vane 4

13 8958001529 Rotor (9T) 1

14 8958001530 Cylinder Set 1

33 8958001548 Belt Drive Shaft Set 1

34 8958001549 Belt Drive Shaft Set (M6) 1

35 8958001550 Toothed Belt 1

37 8958001552 Screw (M6*25l) 1

A 8958001631 Bearing Kit 1

18 Bearing (6001z) 1

23 Bearing (6200zz) 1

B 8958001632 Gear Plate Kit 1

19 Thread Ring Gear 1

20 Idler Gear Set (16t) 3

21 Gear Plate 1

C 8958001633 Bevel Gear Kit 1

22 Sliding Key 1

25 Bevel Gear 1

26 Washer 1

27 Screw (M4*6) 1

D 8958001634 Adjustable Handle Kit 1

28 Handle 1

29 Handle Ring 1

31 Nut Set 1

E 8958001635 Plastic Housing Kit 1

32 Plastic Housing 1

36 Screw (3*18l) 11

F 8958001636 Cover Kit 1

38 Cover 1

39 Screw 1

G 8958001637 Rear Plate Kit 1

10 Bearing (696zz) 1

11 Rear Plate 1

H 8958001638 Front Plate Kit 1

15 Front Plate 1

16 Bearing (608zz) 1

17 Washer 1

Pos. Artikelnr. Description Anz.

I 8958001641 Valve Kit 1

1 Regulator Set 1

2 Valve Stem Set 1

J 8958001642 Air Inlet Kit 1

3 Air Inlet (19) 1

5 Cone Muffler 1

K 8958001643 Housing Kit 1

6 Protecting Rubber 1

7 Housing 1

L 8958001644 Lever Kit 1

8 Pin 1

9 Lever Set 1

SM 8958001639 Small Part Kit (Includes #8, 17, 22, 26, 27, 36 (X11), 39) 1

M 8958001640 Tune up Kit (Includes #2, 12, 35) 1

8950900061 Warning Label

8956002264 Safety Information 

Pos. Tightening Torque (Nm) Dir. Glue /Grease

27 0.98 N.m HERNON 434

36 0.98 N.m N/A

37 0.98 N.m N/A
39 0.98 N.m N/A

Recommended Accessories

8955000117 RCA1000 Motor Oil 1L

8955000129 Hub System, Hub width 23mm

8955000130 Hub System, Hub width 11mm

8955000131 Wire Wheel (Coarse), Wheel width 23mm

8955000132 Wire Wheel (Coarse), Wheel width 11mm

8955000133 Wire Wheel (Medium), Wheel width 11mm

8955000134 Wire Wheel (Fine), Wheel width 11mm

8955000135 4" Rubber Eraser Wheel, Wheel width 30mm

8958001556  4” Stripping Wheel 

8958001557 Wire Wheel (Fine), Wheel width 23mm

8958001558 Wire Wheel (Medium), Wheel width 23mm

 

4

3

36

36
36

27
26

25

24
23

36

28

29

40

35

19
18

17
16 13

12
11 10

32

31

38
39

2122

15
14

37

20

33

34

5

2

1

6

9

8

7


